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Use synthetic division to determine whether the given linear expression is a

factor of the pol X-3=0 ' ‘
actor o 49 po ynogﬂg_ i__.’-a |,C O s (‘emmr\&p’\
Ex.5 k' -2x5°% 2x—

4x-3 then it 5 a factor
3 | 2~
7 33 L
- NO i+ isnol-
/l i1 Fac%of &y\

f\u cem't
5‘ q |

/—

| -2 O
L 33
[ ] 3

The Remainder Theorem provides a quick way to find the remainder of a polynomial
long-division problem.

w Theorem The Remainder Theorem

If you divide a polynomial P(x) of degree n = 1 by x — a, then the remainder is P(a).
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